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13
10

130

x

To multiply any number by 10, just add a 0 to the number being multiplied.

10 x 13 = 130

.

Each bag holds 13 peanuts.  There are 10 bags.  Altogether there are 130 peanuts.

Directions: Use the information on page 17 to compute these answers.

131313 13 13

131313 13 13

14
10x

1. 16
10x

2. 45
10x

3. 65
10x

4.

19
10x

5. 17
10x

6. 22
10x

7. 37
10x

8.

986
010x

19. 621
010x

21. 765
010x

22.872
010x

20.

543
010x

23. 9767
0010x

24. 7502
0010x

25. 1043
0010x

26.

38
10x

9. 98
10x

10. 76
10x

11. 65
10x

12.

68 x 10 = ____13. 77 x 10 = ____14. 73 x 10 = ____15.

33 x 10 = ____16. 35 x 10 = ____17.

8976 x 10 = ____27. 6004 x 10 = ____28.

53 x 10 = ____18.

Directions: Compute these answers in your mind.  Write the answer in the space provided.
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To multiply by 100, add two zeros to the number being multiplied.

1 00  x  52  =  5,2  00
052

5,200
100x

There are 52 playing cards in a regular deck of cards.  In 100 decks of cards there are 5,200
cards.

Directions: Use the information on page 17 to help you compute these answers.

7 x 100 = ___________1. 8 x 100 = ___________2. 4 x 100 = ___________3.

43 x 100 = ___________4. 32 x 100 = ___________5.

659 x 100 ___________15. 749 x 100 = ___________16.

6,549 x 100 = ___________20. 8732 x 100 = ___________21.

765,905 x 100 = ___________25.

51 x 100 = ___________6.

054
100x

7. 062
100x

9. 098
100x

10.026
100x

8.

989
100x

11.

8974
0,100x

17. 5,439
0,100x

18. 5638
0,100x

19.

22,202
0,100x

22. 65,804
0,100x

23. 97,527
0,100x

24.

826
100x

13. 073
100x

14.447
100x

12.
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0067
1000x

7. 0021
1000x

8. 0099
1000x

9. 0076
1000x

10.

0654
1000x

11.

3943
1000x

15. 4607
1000x

16.

5006
1000x

18. 9478
1000x

19. 2001
1000x

20.

1840
1000x

17.

0785
1000x

12. 0806
1000x

13. 0117
1000x

14.

To multiply by 1000, add three zeros to the number being multiplied.

1000 1000 1000 1000 1000 10001000 1000 1000

If you have 9 bags of marbles and each bag has 1000 marbles in it, there are 9000 marbles
altogether.

9 x 1000 = 9,000
Directions: Use the information on page 17 to help you compute these answers.

5 x 1000 = ___________1. 7 x 1000 = ___________2. 3 x 1000 = ___________3.

65 x 1000 = ___________4. 23 x 1000 = ___________5. 14 x 1000 = ___________6.

4594 x 1000 = 4,594,000
3467

x 1000
3,467,000

Directions: Use the sample above to help you solve these problems.

7958 x 1000 = ___________21. 2980 x 1000 = ___________22.

43767 x 1000 = ___________23. 99,759 x 1000 = ___________24.

876,423 x 1000 = ___________25. 756,000 x 1000 = ___________26.


